£EBAGFREGEE: EROBOHM-AREFHERE Tr—F1\v)
T—HE%EH Fr2854R25H

—ROIARREEBRE FRIIAN—EF(ILE]

99% <E[75 600LL £75
- - -}. 60014 50

98% #-y5fms0
97% -

96% - 60024 £ 25
95% £fEf5E25

94% -
93% -

92% -

91% -
TR26EE ERRIEE TR28EE TER9EE

FR26FE ER2IEE

2fFkE  ss—ees 95.1% 94.3% 0.0% 0.0%

50/ S— 25411 97.9% 97.6% 0.0% 0.0%
75,5t 541l 99.0% 98.9% 0.0% 0.0%
600LL k. 255—trsrn 97.8% 96.2% 0.0% 0.0%
50/ St 5411 98.2% 98.1% 0.0% 0.0%
755~k 540 99.1% 99.0% 0.0% 0.0%
2k FHiE 95.2% 95.0% 0.0% 0.0%
600LLE FHE 98.2% 96.4% 0.0% 0.0%
2%k BHEH 95 119 0 0
600LL E  BEFH 20 26 0 0
oo —ROIAPEEEHEE  TR27EE
90% ......................... mirrrrrrrerbrererrrrrererrrrrrrrrrreet
80% ......................... mirrrrrrrrrrrrrrrrrrrrrrrrrrrrbrrrrrrrrrrrrrirrrek T,
70% ......................... mirrrrrrrerbrererrrrrrrrerrrrrrrrrrrrrrrrrrr e rrrrerrrrrened |
60% ......................... mirrrrrrerbrererrrrrerterrrrrrrrrrrrrrrrr b e rrrerrrrrrreey -
50% ......................... miirrrrrrvrrrrrrrrrrrrrrrrrrrrbrrrrrrrrrrrrrrrrrrr b rrrre =
40% ......................... mirrrrrrerbrererrrrrerterrrrrrrrrrrrrrrrr b e rrrerrrrrrreey -
30% ......................... mirrrrrrerbrererrrrrerterrrrrrrrrrrrrrrrr b e rrrerrrrrrreey -
20% ......................... miirrrrrrvrrrrrrrrrrrrrrrrrrrrbrrrrrrrrrrrrrrrrrrr b rrrre =
10% ......................... mirrrrrrerbrererrrrrerterrrrrrrrrrrrrrrrr b e rrrerrrrrrreey -
0%

2Rk B IIL—TRk B &k



